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Find a second linearly independent solution. &CJ:S’H ONS w274 @ ’P()H\W_ LMLESS
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Consider the non-homogeneous linear differential equation /4’ y" +2¢d V' + 25 y=Acos2x. SCORE: /6 PTS
[a] If y=2sin2x—3co0s2x is a particular solution of the equation, find the value of A .
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[b] Using linearity, find a particular solution of ;4/ y'+ 20/))' + 2”§y =Scosdx,
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[c] Find the general solution of 4" + 20" + 2{5)»’ =5c0s2x.
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Consider the homogeneous linear differential equation 9x°y" +3x)’ + By =0,

SCORE; /6 PTS
[a] Find the general solution if B =],
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[b] Find the general solution if B=35.
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Find the general solution of the homogeneous linear differential equation 2" —11y" +6)'+6y =0. SCORE: /6 PTS
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A homogeneous linear differential equation with constant coefficients has characteristic polynomial SCORE: /4 PTS

r(r* —4r+7)". Find the general solution,
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